ENCOMBREMENT POUR MONTABILITE DU PORTE-CLIPS SUR EMBASE TABLEAU DES COMPOSANTS CONSTITUANT LE PRODUIT
FREE SPACE AREA NEEDED TO MATE AND UNMATE THE PLUG ON THE HEADER OWPONENTS TABLE CONSTITUTING THE PRODUCT
REPERE DESIGNATION COULEUR MAT | ERE QUANTITE
4x VIS H M6, CLASSE 8.8 SUIVANT NORME E25-30 TITLE COLOR MATERIAL QUANTITY ||
4x SCREWS H M6 . 8.8 CLASS FOLLOWING NORM £25-30 ‘ ‘
COUPLE SERRAGE : 8Nm +10%
SCREWING TORQUE . 8Nm £10% o)\ [co\ BOITIER EXTERNE ORANGE PBT I5% FV
(VOIR NOTE T PAGE |) / (SEE NOTE 7 ON PAGE ) T i e @ OUTER HOUSING ORANGE PBT GF 15
I I M
POSITTION DU BUSBAR | | MODULE ORANGE PBT 15% FV
ET / AND INNER HOUS ING ORANGE PET GF |5
BUSBAR POS|T/|ON: 4x RONDELLES PLATES: Z 6 U SUIVANT NFE 27-611 I I
. x WASHER: Z 6 U FOLLOWING NFE 27-611 | | BLINDAGE ) ALL IAGE DE CUIVRE ,
= — SHIELD COPPER ALLOY -
DIMENSTON L EN FONCTION DES LANGUETTES RCS800
L DIMENSION DEPENDS ON THE RCS800 MALE TERMINALS m | | J’H JOINT PLAT GRIS SILICONE LSk
REFERENCE DES CONTACTS ou / OR N FLAT SEAL GREY LSR SILICON
PART-N' OF THE MALE TERMINALS VERS ION DIMENSION L 4x VIS M6 TETE HEXAGONAL TYPE | = Ml =10
WYL DELPHI VERSION L DIMENSION SUIVANT NES 2114.2006_N1} E 2 INSERT METALLIQUE . ACIER 4 L
4x SCREWS M6 HEXAGONAL HEAD TYPE | o METALIC INSERT CARBON STEEL
FOLLOWING NES 2114.2006_NI 2 a
Fo76600 PEalIe3s sto 2.8 COUPLE' DE SERRAGE . 8Nmt10% @ H JOINT DE BLINDAGE |  GRIS SILICONE 1SR
SCREWING TOROUE : 8Nmt/0% \ \ @ SEAL FOR SHIELD GREY LSR SILICONE
F176600 33511746 Vi 46.8 (VOIR NOTE 7 PAGE [) L
(SEE NOTE 7 ON PAGE 1) f I
F276600 33511747 v2 70.8
| 30 MAXI
CONNECTEUR PRE-VERROUILLE p)
SN FEMALE CONNECTOR IN PRELOCK POSITION b5] DEPASSENENT BUS BAR
e 8 L
94.55 .
CONNECTEUR VERROUILLE
[¢]1.6][D} FEMALE CONNECTOR LOCKING ‘
- i y
|
-
— = — L
PRESS = PRESS
H=—==— -5 L = L —= S |
= = — = uiB G
% ) FACE DAPPUI
| DES BUSBARS
T FACE SUPPORT
o BUSBAR
NOTE: L
FIXATION DU CONTACT MALE SUR BUSBAR AVEC VIS H M6 CLASSE 8.8 SUIVANT E25-30 INTERDICTION DE MONTER LE BUSBAR ~
COUPLE SERRAGE : 8Nm#l5% SUR CETTE FACE DU CONTACT
/TS PROHIBITED TO MOUNT THE BUSBAR
FIXATION OF THE MALE TERMINAL ON THE BUSBAR WITH H M6 CLASS 8.8 SCREW FOLLOWING E25-30 ON THIS FACE OF THE CONTACT F
SCREWING TORQUE :8Nmz 5%
DEFINITION DE L“INTERFACE POUR MONTAGE EMBASE / . CODE | CODE 2 CODE 3
DEFINITION OF THE INTERFACE TQ ASSEMBLE THE HEADER |
b = -
g
&
<
==
wan
S< 3
ax
BT
3s
[SRG)
w= —
“=
<
}S)
- wo
5]
<
3
o= D
S
=
3
L3 | o =
I — = —
<»n
> o o ATTENTION TROU RECEVANT LA GOUPILLE NON DEBOUCHANT ATTENTION TROU RECEVAMT L4 GOUPILLE NON DEBOUCHANT
JONE FONCT IONNELLE - S et B oLt T wect e the Foy AT | WARNING™. BLIND HOLE TO RECEIVE THE PIN WARNING . BLIND HOLE TS FECEIVE THE PIN
FUNCTIONAL AREA ' | |
ETAT SURFACE: Ra 1.6 ‘ c
ROUGHNESS: Ra .6 _
2 ‘ w ‘ ‘
<
S D - -+ L -
LIMITE DU JOINT w ! ! !
SEAL LIMIT S —
Wty 4 —
o 1T
| SR
| (=} -
g zg ‘ : = B
- 4= Leny - L ~[DELPHT P/ ADDED
- :m ® S W tcr|imor o
zj z= ' ! R ] COPIRIGHT DLLPHI CORPORATION ANDJGR [T AFTILIRTES. ALL RIGHTS RESERVED. RCVISED
o8 [=[o-2(] e £ W | LRSS EHEUERSE
& 0.2]] g - o ST
ore g 6 friee SEE BN R S wmﬁmm@hwm o
S S o N

I - LA REFERENC MILIEU DE [ABJ NORMALE A [A-B] Cx | T 73 3 ﬁ s % g | € |spgn | B |
THE REFERENC HE MIDDLE OF SEGMENT [AB] NORMAL ol i CTTT T i T i v v o i
TO THE REFERE ~2 | S I = 2 s PCC0732944 ol -

2 - MATIERE: ALLIAGE D'ALUMINIUM (TENUE BROUILLARD SALIN =3 | = )3 = May [
+ TEST ELECTRIQUE DE LA FE PS 10 005) o | = 2 B 5| y ™ R O g SERIAL RELEASED 2
VIR CAL T aon P 8310 STE)T T 3% | of 2x cHo.5xa5® [@]0.5T0} o 2x CHO.5x45° e LN P Ly ==

13004 e o e e o o BT
I 6 I 5 I T4 3 12 I ] I 0 I E) I 8 I 7 I 6 [ 5 [ [ |




